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2 3 C ) ,
ASTM D 885—98 ,
21 , 3~5
1 . ASTM D 885— . 3~5
4 ,
30 3 .
2 3
1
) .
11 .4 28tex/5X 3 21s/5X 3 (s
s , texX s=
591).
7 . . 28tex/3X 3
@x3,5X3)  21/3X 3(4X 3, 5X3).
29. Stex/3X 3(4X 3, 5
) X 3)  20s/3X 3(4X 3,5% 3),
; 4 5 .2
( kg)
, 10 2 10
10kg; 2 3
. °(10 em) ™ . , 1098
10 kg, 98 “(10cm) ';
\ 8592 8.5 kg, 92
10% ~ “(10 em) .

9 2

XXX/7X  XXXX/X ,
3 4 ;



60 2001 48
dtex, 1 . 3.2
, 1400/ 2 1 400 .
dtex , 2
( RFL
3 4 ). )
s 1 s 2 3
, tex. ,932
930/2; 1403 1400/ 3. R
1 . ,
AC B,OXXXX AC B,O 1996 s
XXXXX, A 930 dtex, B
1 400 dtex, C A cordis-AKZO ENKA
1870 dtex; 4 5 2 |
. “(10em) 'y 2 3 9.
, cm, » A9091, 3,
930 dtex, 90
(10 em) ™ ', 91 cm; B80133, 1 ENKA
1 400 dtex, 80 KC29/ 92 KC30/ 110
“(10 em) 133 cm. A 1840/ 2 1840/ 2
(B, COXXXXXX .6 RN St o
. *(10 em) 88 N /% 62~68 50
3 , cm, . 116133 /v 14 15
116 *(10 em) e 0 0
133 em. 930/ 2, 480 480
A2XXXXX /mm 0.77 0.77
78 78
A 29 5tex/3X3,B 29 5tex/4X 3, C
29. Stex/5X 329, 5 tex=20 s). 2 ENKA
3 1830/3  2440/2  1830/2  1220/2
31 /CormH
( 260 260 300 400
) ( 260 260 300 400
/mm 0.8 07040 03 053003 0.45+0. 03
RFL )
. , . /N =245 =235 =176 =127
’ ’ /Y% 1520 1520 14~20 14-20

GB 330—94,

/% 85~100 85~10.0 85~10.0 85~100

44 N.



1 3 61
3
17B 172B 173B 22B 222B 172BP 232BP 233BP
184tex/ 1X 2 184tex/ 1X 2 184tex/ 1X 2 244tex/ X 2 244tex/ 1X 2 184tex/ 1X 2 244tex/ 1X 2 244tex/1X 2
/ mm 0.67%0.03 0.67£0.03 0674003 O &),88% 0. 80;8'% 0.584+0.03 0.67£0.03 0. 67%0.03
/N =>169. 8 =>169. 8 =>169. 8 =>215.8 =>215. 8 =176. 6 =230. 5 =230.5
/% 50 50 50 4.5 4.5 50 4.5 4.5
44 N
/% 35405 3.5+0.5 3.5+0.5 32405 32405 L. 7£0.5 L.5£05 L. 505
/% 145+1L5 145+£1.5 145+1L5 160£1.3 160FXL3 10.8*1L5 120FXL5 120*+L5
/C m™hH
480420 480420 480420 420420 420420 30020 26020 260+20
400420 400420 400420 360120 36020 30020 26020 260+20
/N =>=1569.6 =>=1569.6 =>=1569.6 =17167 =1716.7 =13734 =>=17167 =171617
/[ 0 em) Y
94+1 75+1 47+1 89+1 72+1 70+1 75+1 70+1
10+1 12+1 15+1 10+1 12+1 12+1 12+1 12+1
/
(g°m™ 2 392420 315+15 199+10 504425 408420 290+15 410+15 380+15
: 1D 172BP, 232BP  233BP ;2) .
33 ENKA 66
4, 6
, 5.
85% ~90 %.
. N 4 ENKA 1400/ 2 66
b
, /
395/395  320/320 200/ 200
A A ? / dtex 2900 2 860 2 740
o /N 200 200 200
, N 44 N /% 6.3 5 8 52
/% 32 31 32
: ° /% 137 22 4 25. 4
’ ’ ’ ;D ‘m Y 2) 160 C
o X 4 min,
5 6
930/ 1 930/ 2 1400/ 2 1870/ 2 2100/ 2
/[ =0 em) ] 30 47X 47 38X 38 34X 34 33X 33
/mm 0. 36+0. 03 0. 56+0. 03 0. 67%0. 03 0. 80%0. 03 0. 85+0. 03
/N
78 4 147. 0 220. 5 294. 0 323.4
68. 6 132. 3 205. 8 264. 6 303.8
/% 1. 5+L 5 8 0£15 80+l 5 8 0+£15 9.0EL5
/% 21.0 22.2 23.5 23. 5 26. 0
/% <6.0 <6.0 <6.0 <6.0 <60
T /N 63. 7 142. 1 186. 2 225 4 245.0
D :930/1  930/2 44 N; 14002 66N; 1870/2 88N; 2100/2 100N. 2)

150 “CX 30 min.
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6~9, 66
10. 11.
6 6
1870/ 2 1400/ 2 930/2
\2 V2 A4 ) V3 \2 V2 V3
/I A0 em) Y 88 74 100 74 52 126 94 60
/[ 20 em) Y <92 <78 <105 <78 <55 <130 <98 <64
/I A0 em) Y 8 10 8 10 16 10 12 14
/ tex 28~ 30 28~ 30 28~ 30
/m L+2%L L+2% L L+2%L
/ em 145+3 145+3 145+3
L
7 66
930/2 1400/ 2 1870/ 2 2100/ 2 1400/ 3
V3 A3 V2 V3 Vi v2' V2 \8! V2 \ V2
/I 210 em) ] 60 100 74 52 88 74 68 4 88 74 88 74
/I A0 em) Y 63 105 78 55 92 78 72 92 78 92 78
/I 210 em) ] 14 8 10 14 9 9 9 9 9 8 10
/m 1160 1160 1160 1160 900 900 1360 770 770 770 770
s * 28 ~ 30 tex, 10 cm, (145+3) cm.
8 66
H / /[ =(10em) )
/N /% /N /% /% mm
930/ 2
>137.2 5106 >=107.8 50209 205+2 0 53%0 05 46,015 46.0%1.5
>1323 5408 =980 50+12 205+2 0534005 46,015 46.0%1.5
=127 4 5110 =980 50%k1L5 2054+2 0 53+005 46,015 46.0%1.5
1400/ 2
>215.6 5406 =>137.2 50+09 21542 0 6540 05 39.0+1. 5 37.0+1.5
=211 7 5408 =>127.4 50+12 21542 0 6540 05 39.0+1. 5 37.0+1.5
=>205. 8 5410 =>117.6 50+15 21542 0 6540 05 39.0+1. 5 37.0+1.5
1870/ 2
>284.2 7406 =>156.8 50+09 2242 0. 740. 05 32.0F1. 5 32.0+1.5
=274 4 7408 =>137.2 50+12 2242 0. 740. 05 32015 32.0+1.5
=264 6 7410 =127.4 50%15 2242 0. 740. 05 32015 32.0+1.5
2100/ 2
>313.6 L0406 >156.8 45+05 2242 0. 780. 05 320420 32.042.0
>303. 8 L0408 =147.0 45+05 2242 0. 780. 05 320420 32.042.0
=294 0 L0410 =137.2 45+05 2242 0. 780. 05 320420 32.042.0
1400/ 3
>313.6 10408 >156.8 40+05 2242 0. 780. 05 320420 32.042.0
>303. 8 1010 =147.0 40+05 2242 0. 780. 05 320420 32.042.0
=294 0 L 0+1.2  =137.2 40+05 2242 0. 780, 05 320420 32.042.0
. D :930/2 44 1 N;1400/2 666 N; 1870/2 88 2 N; 2100/2  1400/3 100 N. 2)930/2,
1400/2  1870/2 <5%;2100/2 1400/ 3 <55%. 3)
3%; <4%; <5%; 4 <5%; <6%; 7%.



1 3 63
9 6
H / / /[ (10 em) Y
/N /% /N /% /% % mm /%
930/ 2
>137.2 8+05 107. 8 3 5410 05540 03 46+1. 46+1.5 6
>1323 8+L0 980 4 5415 05540 04 46+1. 46+1.5 8
>127.4 8£LO0 980 5 5415 05540 05 46+1. 46+1.5 8
1400/ 2
=>215.6 8+0.5 137. 2 3 5410 0 654+0 03 39+1 37+1.5 6
>205.8 8+0.7 117. 6 4 5415 06540 04 39+1. 37+1.5 8
>=2009 8*+10 107. 8 5 5415 0.654+0 05 39+1. 37+1.5 8
1870/ 2
>279.3 8+0.5 156. 8 3 5410 0 7540 03 33+1 33+1.5 6
>269.5 8*LO0 137. 2 4 5415 07540 04 33+1 33+1.5 8
>259.7 8+£L0 127. 4 5 5415 07540 05 33+1 33+1.5 8
;D :930/2 44 1N; 1400/2 66. 6 N; 1870/2 88 2N. 2) 22% +2%.
10 6
H / /
/ mm
/N /% N /% /% /% C °m D
930/ 1
= 69 7.54+0. 8 =54 4 0.324+0. 03 20 0+£2 0 210+15
=67 7.5+1.0 =49 4. 0.324+0. 03 20 0+£2 0 210+15
=65 7.5+1.0 =44 5. 0.324+0. 03 20 0+£2 0 210+15
930/ 2
=137 8+0. 8 =98 35 55 0.52+0.03 22 0+20 280415
=132 8+0. 8 =93 40 6.0 0.52+0.03 22 0+20 280415
=127 8+0. 8 =88 5. 0.52+0.03 22 0+20 280415
1400/ 1
=103 7+0.8 =69 35 5 0.43+0.03 20.0+20 190+10
=98 7L 0 =64 40 . 0 0.43+0.03 20.0+20 190+10
=93 7L 0 =59 5.0 0 0.43+0.03 20.0+20 190+10
1870/ 1
=132 8+0. 8 =83 35 .5 0.50+0. 03 20.0+2 0 160+10
=127 8+0. 8 =78 .0 . 0 0.50+0. 03 20.0+2 0 160+10
=123 8+0. 8 =174 5.0 7.0 0.50+0. 03 20.0+2 0 160+10
D :930/1 22 6N;930/2 1870/1 44 N; 1400/1 33 N. 2) <0 008. 3)
<4%
34 ’
> H
A} . b
, . s RFL



